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Correct Answer = 50 x £2 = £100 (2 marks) – £ must be there for 2 marks. 
Other answers for 1 mark: 
• showing formula of Price x Quantity = Revenue 
• showing understanding of formula, eg 50 x £2, £1.50 x 50 – on their own without total calculation. 
• 100.
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Method 1 
Income: 5,000 x £4 = £20,000 (1) 
Distribution 50 x £50 = £2,500 (1) Costs: Making 5,000 x £2 = £10,000 (1) OR £12,500 (2) 
Profit: £20,000 – £12,500 = £7,500 (4) or 7,500 (3) OR 
Profit: £20,000 – (£2,500 + £10,000) = £7,500 (4) or 7,500 (3) 
Method 2 
[bookmark: _GoBack]Income: 5,000 X £4 = £20,000 (1) 
Contribution: (£ 2 + £0.50) (1) X 5,000 = 12,500 (1) 
Profit: £20,000-£12,500 = £7,500 (4) or 7,500 (3) 
Example of OFR 
If a candidate uses the correct method and makes an error in calculation apply the OFR 
Distribution Costs = 50 x 50 = 250 Therefore Profit £10,000- £250 = £9750 (3) 
Maximum 3 marks if no £ sign
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Item A
Field Fresh
Jenna lives with her family on a fruit and vegetable farm which her father has run E

for many years. The farm sells its produce to shops and restaurants. Earlier this
year, Jenna decided to use an empty building on the farm and start her own
business, as a sole trader. She set up a shop selling organic produce from the
farm direct to local customers. The best-selling item is a bag of mixed vegetables
for soups and stews.

Jenna does not have a lot of money to spend on marketing for her shop. She
advertises by delivering leaflets to local households in the nearby villages. Most
of her customers come from these villages.

Some of Jenna's customers have enquired about a weekly delivery service of a
box of organic fruit and vegetables. She is considering if this would be a good
idea for her business
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per week. She is thinking of increasing her price to £2.00 per bag.

(c) (i) Jenna currently prices her bag of mixed vegetables at £1.50 and sells 60 bags

Calculate Jenna's weekly revenue if she only sells 50 bags at the new price

Weekly revenue

[2 marks]

(c) (ii) Explain the possible effect on Jenna's business if she decides to increase the price.

[4 marks]
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We-R-Mugs Ltd

We-R-Mugs Ltd was set up five years ago to produce individual mugs as special
gifts and presents. The mugs are not cheap and can sell at between £5 and
£10 depending on how complicated the design is. It is a successful business
and now employs 20 workers in a small workshop on the edge of a town

The business wants to increase its revenue by selling a cheaper range of
novelty mugs. These would be produced in batches and would cost £2 to make
and could be sold for £4. There would also be distribution costs of £50 for every
100 mugs sold.

If it decides to make the novelty mugs using batch production then in order to
make even more profit We-R-Mugs Ltd could buy a new machine. The machine

would be expensive but would reduce the costs of making the mugs. The sales E
team is concerned that the company might lose its reputation for the high quality
of its mugs.
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Calculate the additional weekly profit the business would make if it produced and

sold 5000 novelty mugs every week
[4 marks]

Additional weekly profit

Workings





